

## JOHANNESBURG STOCK EXCHANGE Currency Derivatives

## **Currency Futures & Options Matched Trades**

Report for 14/09/2012

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Tra Ty		Buy/ Sell
8:07:04	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.4690	1,645,340.00 Me	ember	Sell
8:07:04	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.4827	3,290,680.00 Me		Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5345	822,670.00 Clie		Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4100	822,670.00 Clie		Buy
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3600	822,670.00 Clie		Buy
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.4828	8,226,700.00 Clie		Buy
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4250	822.670.00 Me		Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.4897	3,290,680.00 Me	ember	Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3600	822,670.00 Me	ember	Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5345	822,670.00 Me		Buy
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4100	822,670.00 Me	ember	Sell
8:11:14	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4250	822,670.00 Clie		Buy
8:15:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	8.3177	16,453,400.00 Clie	ent	Buy
8:15:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	8.3177	16,453,400.00 Me		Sell
8:40:06	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5195	822,670.00 Clie	ent	Sell
8:40:06	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.3100	205,667.50 Me	ember	Sell
8:40:06	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5195	822,670.00 Me	ember	Buy
8:40:06	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.3100	205,667.50 Clie	ent	Buy
9:02:32	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3200	82,267.00 Clie	ent	Buy
9:02:32	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3200	82,267.00 Clie	ent	Sell
9:06:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3384	8,226.70 Me	ember	Sell
9:06:45	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	13,211	13,211,000	8.2161	108,682,933.70 Me	ember	Buy
9:06:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	13,211	13,211,000	8.3181	108,682,933.70 Me	ember	Sell
9:06:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	7,240	7,240,000	8.3181	59,561,308.00 Clie	ent	Buy
9:06:45	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	7,240	7,240,000	8.2161	59,561,308.00 Clie	ent	Sell
9:06:52	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3220	411,335.00 Clie	ent	Buy
9:06:52	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3220	411,335.00 Me	ember	Sell
9:07:43	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	29	29,000	8.3200	238,574.30 Clie	ent	Buy
9:08:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	8.2150	370,201.50 Clie	ent	Sell

Page 1 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
9:08:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	8.2150	370,201.50 Member	Buy
9:09:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.3158	3,290,680.00 Member	Buy
9:09:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3160	822,670.00 Member	Buy
9:10:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.3164	3,290,680.00 Member	Buy
9:10:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3161	8,226,700.00 Client	Sell
9:10:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3165	822,670.00 Member	Buy
9:10:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.3200	617,002.50 Client	Sell
9:10:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	8.3235	115,173.80 Member	Sell
9:10:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	8.3256	106,947.10 Member	Buy
9:10:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	8.3256	106,947.10 Client	Sell
9:12:07	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.3035	2,056,675.00 Client	Buy
9:12:07	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.3035	2,056,675.00 Member	Sell
9:13:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2300	822,670.00 Member	Sell
9:13:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2300	822,670.00 Member	Buy
9:13:38	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3310	164,534.00 Member	Sell
9:13:38	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3310	164,534.00 Client	Buy
9:14:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3355	16,453.40 Client	Buy
9:14:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3325	8,226.70 Member	Sell
9:14:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3240	411,335.00 Client	Buy
9:14:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3320	164,534.00 Client	Buy
9:14:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3240	411,335.00 Member	Sell
9:14:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3320	164,534.00 Member	Sell
9:15:03	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3240	41,133.50 Client	Buy
9:15:03	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3240	41,133.50 Member	Sell
9:15:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3240	822,670.00 Member	Sell
9:15:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3240	411,335.00 Member	Sell
9:16:56	\$ / R 14/12/2012	Foreign Exchange Future	Р	8.32	1	1,000	200	200,000	277.0000	1,645,340.00 Member	Sell
9:16:56	\$ / R 14/12/2012	Foreign Exchange Future	Р	8.32	1	1,000	100	100,000	277.0000	822,670.00 Client	Buy
9:18:53	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.4240	205,667.50 Member	Sell
9:18:53	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.4240	205,667.50 Client	Buy
9:21:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3250	16,453.40 Client	Buy
9:21:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3250	16,453.40 Member	Sell
9:23:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3265	822,670.00 Client	Buy
9:23:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3265	822,670.00 Member	Sell
9:24:27	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3233	8,226.70 Client	Sell
9:24:27	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2208	8,226.70 Member	Buy
9:26:18	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3273	164,534.00 Member	Sell
9:26:18	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3273	164,534.00 Client	Buy
9:27:28	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.2202	32,906.80 Member	Buy
9:27:28	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3227	32,906.80 Client	Sell
9:31:22	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2248	8,226.70 Member	Buy
9:31:22	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.2230	16,453.40 Member	Buy
9:31:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3273	8,226.70 Client	Sell

Page 2 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
9:31:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3255	16,453.40 Client	Sell
9:34:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,764	1,764,000	8.3350	14,511,898.80 Member	Sell
9:34:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,764	1,764,000	8.3350	14,511,898.80 Client	Buy
9:36:25	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.2305	329,068.00 Client	Sell
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.3331	329,068.00 Client	Buy
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	368	368,000	8.3334	3,027,425.60 Member	Buy
9:36:25	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	8.2328	263,254.40 Member	Buy
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3335	822,670.00 Member	Buy
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	368	368,000	8.3334	3,027,425.60 Client	Sell
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	8.3353	263,254.40 Client	Sell
9:36:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3335	822,670.00 Client	Sell
9:36:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3405	822,670.00 Member	Sell
9:36:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3405	822,670.00 Member	Buy
9:36:41	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2395	822,670.00 Member	Sell
9:36:41	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2395	822,670.00 Member	Buy
9:36:52	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3490	822,670.00 Client	Buy
9:36:52	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3490	822,670.00 Member	Sell
9:39:37	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.2440	411,335.00 Member	Buy
9:40:10	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3500	164,534.00 Member	Buy
9:40:10	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3500	164,534.00 Client	Sell
9:41:39	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.3535	49,360.20 Member	Sell
9:41:39	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.3535	49,360.20 Client	Buy
9:44:06	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	8.2500	20,566,750.00 Client	Buy
9:44:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	8.3490	20,566,750.00 Client	Sell
9:44:06	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2500	41,133.50 Client	Sell
9:44:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3550	41,133.50 Client	Buy
9:44:06	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,570	2,570,000	8.2500	21,142,619.00 Member	Sell
9:44:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,570	2,570,000	8.3490	21,142,619.00 Member	Buy
9:44:06	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	648	648,000	8.2500	5,330,901.60 Member	Buy
9:44:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	648	648,000	8.3550	5,330,901.60 Member	Sell
9:45:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3450	82,267.00 Member	Sell
9:45:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3450	82,267.00 Client	Buy
9:47:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3360	82,267.00 Client	Buy
9:47:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3360	82,267.00 Member	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	61	61,000	8.2161	501,828.70 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	131	131,000	8.2161	1,077,697.70 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	139	139,000	8.2161	1,143,511.30 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	515	515,000	8.2161	4,236,750.50 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	874	874,000	8.2161	7,190,135.80 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,186	1,186,000	8.2161	9,756,866.20 Client	Sell
9:47:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	3,065	3,065,000	8.2161	25,214,835.50 Client	Sell
9:47:52	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3365	41,133.50 Client	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3365	41,133.50 Member	Sell

Page 3 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value T	Trade Type	Buy/ Sell
9:48:43	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.41	1	1,000	4,250	4,250,000	188.5000	34,963,475.00 C	Client	Sell
9:48:43	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.41	1	1,000	750	750,000	188.5000	6,170,025.00 C	Client	Sell
9:48:43	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.41	1	1,000	4,250	4,250,000	188.5000	34,963,475.00 N	<b>Member</b>	Buy
9:48:43	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.41	1	1,000	750	750,000	188.5000	6,170,025.00 N	<b>Member</b>	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	61	61,000	8.3181	501,828.70 C	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	131	131,000	8.3181	1,077,697.70 C	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	139	139,000	8.3181	1,143,511.30 C	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	515	515,000	8.3181	4,236,750.50 C	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	874	874,000	8.3181	7,190,135.80 C	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,186	1,186,000	8.3181	9,756,866.20	Client	Buy
9:49:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	3,065	3,065,000	8.3181	25,214,835.50 C	Client	Buy
9:52:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3370	4,113,350.00 N	√lember	Sell
10:00:18	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.23	1	1,000	4,250	4,250,000	48.8000	34,963,475.00 N	√lember	Sell
10:00:18	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.23	1	1,000	4,250	4,250,000	48.8000	34,963,475.00 C	Client	Buy
10:00:18	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.23	1	1,000	750	750,000	48.8000	6,170,025.00 N		Sell
10:00:18	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.23	1	1,000	750	750,000	48.8000	6,170,025.00 C	Client	Buy
10:05:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3590	822,670.00 N		Sell
10:05:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3590	822,670.00 C		Buy
10:06:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3600	82,267.00 C		Sell
10:06:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3600	82,267.00 C	Slient	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3600	246,801.00 N		Buy
10:07:20	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3600	246,801.00 C		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3695	82,267.00 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3695	82,267.00 C	Slient	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3690	164,534.00 N	√lember	Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3680	411,335.00 N		Sell
10:14:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3680	411,335.00 C	Client	Buy
10:15:40	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.3635	12,340,050.00 N	∕lember	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3695	822,670.00 N		Sell
10:19:39	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3695	822,670.00 C		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.2135	411,335.00 N		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.3585	12,340,050.00 C		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3675	164,534.00 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3655	164,534.00 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3665	32,906.80 N	Леmber	Sell
10:30:04	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3665	32,906.80 C		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3653	164,534.00 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.3650	493,602.00 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.3650	493,602.00 C		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3653	164,534.00 C		Buy
10:31:26	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3640	32,906.80 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3640	164,534.00 N		Sell
10:31:26	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3640	32,906.80 C	Client	Buy

Page 4 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
10:32:51	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3600	32,906.80 Member	Sell
10:32:51	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3600	32,906.80 Client	Buy
10:39:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,800	2,800,000	8.2440	23,034,760.00 Member	Buy
10:39:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,800	2,800,000	8.2440	23,034,760.00 Client	Sell
10:39:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,800	2,800,000	8.3485	23,034,760.00 Member	Sell
10:39:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,800	2,800,000	8.3485	23,034,760.00 Client	Buy
10:42:48	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2515	82,267.00 Member	Sell
10:42:48	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2515	82,267.00 Client	Buy
10:43:02	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2490	8,226.70 Member	Buy
10:43:02	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2490	8,226.70 Member	Sell
10:43:21	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	47,030	47,030,000	8.2490	386,901,701.00 Member	Sell
10:43:21	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	47,030	47,030,000	8.3500	386,901,701.00 Member	Buy
10:43:21	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	19,000	19,000,000	8.2490	156,307,300.00 Client	Buy
10:43:21	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	19,100	19,100,000	8.3500	157,129,970.00 Client	Sell
10:43:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	228	228,000	8.3500	1,875,687.60 Member	Buy
10:43:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	228	228,000	8.3500	1,875,687.60 Member	Sell
10:53:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3470	4,113,350.00 Client	Buy
10:53:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3470	4,113,350.00 Member	Sell
10:53:27	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.2862	2,056,675.00 Client	Sell
10:53:27	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.4565	4,113,350.00 Client	Sell
10:53:27	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.2862	2,056,675.00 Member	Buy
10:53:27	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.4565	4,113,350.00 Member	Buy
10:56:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3460	822,670.00 Member	Buy
10:56:22	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.3460	411,335.00 Member	Buy
11:03:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.3526	6,581,360.00 Client	Buy
11:03:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.3505	3,290,680.00 Client	Buy
11:03:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.3526	6,581,360.00 Member	Sell
11:03:15	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.3505	3,290,680.00 Member	Sell
11:04:24	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4,610	4,610,000	8.2490	37,925,087.00 Member	Buy
11:04:24	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,055	1,055,000	8.2490	8,679,168.50 Client	Sell
11:04:24	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,055	1,055,000	8.4550	8,679,168.50 Client	Buy
11:04:24	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	4,610	4,610,000	8.4550	37,925,087.00 Member	Sell
11:09:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	3,625	3,625,000	8.2600	29,821,787.50 Member	Buy
11:09:31	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	3,625	3,625,000	8.3660	29,821,787.50 Member	Sell
11:09:31	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,525	2,525,000	8.3660	20,772,417.50 Client	Buy
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,525	2,525,000	8.2600	20,772,417.50 Client	Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.3700	123,400.50 Member	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.3700	123,400.50 Client	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3700	822,670.00 Member	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3700	822,670.00 Member	
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	235	235,000	8.2490	1,933,274.50 Client	Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	970	970,000	8.2490	7,979,899.00 Client	Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	390	390,000	8.2490	3,208,413.00 Client	Sell
=	,	: 1:1.g.: _/sago : atalo		3.00	•	.,500	555	- 30,000		0,200,110.00	

Page 5 of 21 2012/09/14, 06:04:29PM

11:24:32 \$ 11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:27:31 \$ 11:27:31 \$	5 / R 17/09/2012 5 / R 17/09/2012	Foreign Exchange Future		Trades	Value		Nominal	Price	Туре	e Buy/ Sell
11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:27:31 \$ 11:27:31 \$	3 / R 17/09/2012	i oroigii Exoriarigo i atare	0.00	1	1,000	1,700	1,700,000	8.2490	13,985,390.00 Clien	: Sell
11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:27:31 \$ 11:27:31 \$		Foreign Exchange Future	0.00	1	1,000	260	260,000	8.2490	2,138,942.00 Clien	Sell
11:25:55 \$ 11:25:55 \$ 11:25:55 \$ 11:27:31 \$ 11:27:31 \$	S / R 18/03/2013	Foreign Exchange Future	0.00	1	1,000	235	235,000	8.4550	1,933,274.50 Client	Buy
11:25:55 \$ 11:25:55 \$ 11:27:31 \$ 11:27:31 \$	S / R 18/03/2013	Foreign Exchange Future	0.00	1	1,000	970	970,000	8.4550	7,979,899.00 Client	Buy
11:25:55 \$ 11:27:31 \$ 11:27:31 \$	S / R 18/03/2013	Foreign Exchange Future	0.00	1	1,000	390	390,000	8.4550	3,208,413.00 Client	Buy
11:27:31 \$ 11:27:31 \$	5 / R 18/03/2013	Foreign Exchange Future	0.00	1	1,000	1,700	1,700,000	8.4550	13,985,390.00 Clien	Buy
11:27:31 \$	5 / R 18/03/2013	Foreign Exchange Future	0.00	1	1,000	260	260,000	8.4550	2,138,942.00 Clien	Buy
	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	562	562,000	8.2600	4,623,405.40 Meml	oer Buy
11:27:32 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	35	35,000	8.2600	287,934.50 Client	Sell
· · · · · · · · · · · · ·	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	562	562,000	8.3660	4,623,405.40 Meml	oer Sell
11:27:32 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	35	35,000	8.3660	287,934.50 Clien	Buy
11:31:09 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	500	500,000	8.3580	4,113,350.00 Clien	Sell
11:31:37 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3700	822,670.00 Meml	oer Sell
11:31:40 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3700	822,670.00 Meml	oer Sell
11:31:40 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3700	822,670.00 Meml	oer Sell
11:33:35 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	440	440,000	8.3580	3,619,748.00 Meml	per Buy
11:33:40 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3640	822,670.00 Meml	oer Sell
11:33:41 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3640	822,670.00 Meml	oer Sell
11:33:41 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3640	822,670.00 Meml	oer Sell
11:33:41 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	40	40,000	8.3640	329,068.00 Meml	oer Sell
11:39:44 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	35	35,000	8.3600	287,934.50 Meml	oer Sell
11:41:21 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3638	822,670.00 Clien	Buy
11:41:21 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	8.3530	164,534.00 Meml	oer Sell
11:42:04 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	30	30,000	8.3500	246,801.00 Clien	Sell
11:42:04 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	30	30,000	8.3500	246,801.00 Client	: Buy
11:42:39 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3660	822,670.00 Clien	
11:42:39 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	500	500,000	8.3660	4,113,350.00 Clien	Buy
11:42:39 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	500	500,000	8.3660	4,113,350.00 Clien	
11:42:49 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	70	70,000	8.3500	575,869.00 Meml	
11:42:49 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	70	70,000	8.3500	575,869.00 Clien	: Buy
11:43:23 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	228	228,000	8.3500	1,875,687.60 Meml	
11:43:23 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	228	228,000	8.3500	1,875,687.60 Clien	Sell
11:43:26 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.2600	822,670.00 Clien	
11:43:26 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	500	500,000	8.2600	4,113,350.00 Clien	Sell
11:43:26 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	500	500,000	8.2600	4,113,350.00 Clien	
11:45:29 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	5	5,000	8.2505	41,133.50 Clien	
11:45:29 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	5	5,000	8.2505	41,133.50 Meml	
11:45:41 \$	6 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	18,380	18,380,000	8.2490	151,206,746.00 Clien	
11:45:41 \$	S / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	9,650	9,650,000	8.2490	79,387,655.00 Clien	
11:45:53 \$	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	24	24,000	8.3480	197,440.80 Meml	
	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	24	24,000	8.3480	197,440.80 Clien	
	S / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	8.3400	822,670.00 Clien	
	6 / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	18,030	18,030,000	8.3500	148,327,401.00 Clien	

Page 6 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value 1	Trade Type	Buy/ Sell
11:47:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	9,900	9,900,000	8.3500	81,444,330.00	Client	Sell
11:48:26	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3400	822,670.00 N	Member	Sell
11:54:31	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.3420	493,602.00	Client	Buy
11:55:55	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	390	390,000	8.3420	3,208,413.00 N	Member	Sell
11:55:55	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	390	390,000	8.3420	3,208,413.00	Client	Buy
11:56:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3400	2,468,010.00 N		Sell
11:56:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3400	4,113,350.00 C		Buy
11:56:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3350	822,670.00 N		Sell
11:56:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3350	822,670.00 N	Member	Sell
11:56:23	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3350	822,670.00 N	Member	Sell
11:56:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3350	4,113,350.00	Client	Buy
11:56:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3350	822,670.00 N		Sell
11:56:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3350	822,670.00 N		Sell
11:56:38	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,656	2,656,000	8.2450	21,850,115.20 N		Buy
11:56:38	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,656	2,656,000	8.2450	21,850,115.20		Sell
12:08:06	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	410	410,000	8.3515	3,372,947.00 N		Buy
12:08:06	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	410	410,000	8.2505	3,372,947.00 N		Sell
12:12:08	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2370	822.670.00 N		Sell
12:12:08	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.2300	411,335.00 N	Member	Buy
12:15:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3403	2,468,010.00		Sell
12:19:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.2500	575,869.00 C		Buy
12:20:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.3490	575,869.00 C		Sell
12:22:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3386	41,133.50 C		Sell
12:22:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3386	41,133.50 C		Buy
12:23:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.3386	123,400.50 C		Sell
12:23:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.3386	123,400.50 C		Buy
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.2500	2,468,010.00		Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.2500	1,234,005.00		Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2500	822,670.00 C		Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	93	93,000	8.2500	765,083.10 C		Sell
12:25:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3550	2,468,010.00		Buy
12:25:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.3550	1,234,005.00		Buy
12:25:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3550	822,670.00 C		Buy
	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	93	93,000	8.3550	765,083.10 C		Buy
	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.80	1	1,000	1,500	1,500,000	545.3333	12,340,050.00 N		Buy
12:26:41	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.10	1	1,000	2,000	2,000,000	0.5775	16,453,400.00 N		Buy
12:26:41	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.60	1	1,000	4,000	4,000,000	340.2113	32,906,800.00 N		Buy
12:26:41	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.80	1	1,000	1,500	1,500,000	545.3333	12,340,050.00		Sell
12:26:41	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.10	1	1,000	2,000	2,000,000	0.5775	16,453,400.00 C		Sell
12:26:41	\$ / R 17/09/2012	Foreign Exchange Future	Р	8.60	1	1,000	4,000	4,000,000	340.2113	32,906,800.00		Sell
	\$ / R 14/12/2012	Foreign Exchange Future	•	0.00	1	1,000	35	35,000	8.3436	287,934.50 N		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.3436	287,934.50 C		Buy
12:37:19	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3370	41,133.50 N		Buy
12.07.10	Ψ / IX I T/ I Δ/ Δ/ U I Δ	i ordigit Exchange i uture		0.00	'	1,000	3	3,000	0.0010	41,100.00 N	*IOIIIDGI	Day

Page 7 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	
12:37:19	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3370	41,133.50 Client	Sell
12:42:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2505	822,670.00 Client	Buy
12:42:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.2505	2,468,010.00 Client	Buy
12:43:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3515	2,468,010.00 Client	Sell
12:43:30	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4354	411,335.00 Memb	er Buy
12:43:30	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4354	411,335.00 Client	Sell
12:43:33	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2505	82,267.00 Client	Buy
12:43:39	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3515	82,267.00 Client	Sell
12:50:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5565	822,670.00 Client	Buy
12:50:32	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2450	822,670.00 Client	Sell
12:50:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.5565	822,670.00 Memb	er Sell
12:50:32	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2450	822,670.00 Memb	er Buy
12:50:49	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2514	822,670.00 Client	Buy
12:50:49	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3463	822,670.00 Client	Sell
12:50:49	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3463	822,670.00 Memb	er Buy
12:50:49	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2514	822,670.00 Memb	er Sell
12:51:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.2514	2,468,010.00 Client	Sell
12:51:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.2514	2,468,010.00 Client	
12:51:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3524	2,468,010.00 Client	Buy
12:51:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.3524	2,468,010.00 Client	Sell
12:52:44	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.2600	493,602.00 Client	
12:52:44	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.2600	493,602.00 Client	
12:52:44	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.2600	3,290,680.00 Client	
12:52:45	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.2600	57,586.90 Client	
12:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.3660	493,602.00 Client	
12:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.3660	493,602.00 Client	
12:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.3660	3,290,680.00 Client	
12:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.3660	57,586.90 Client	
12:56:40	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2514	8,226.70 Client	
12:56:40	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2514	8,226.70 Client	
12:56:40	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3524	8,226.70 Client	
12:56:40	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3524	8,226.70 Client	
12:57:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.2514	32,906.80 Client	
12:57:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.2514	32,906.80 Client	
12:57:43	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3524	32,906.80 Client	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3524	32,906.80 Client	
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2514	41,133.50 Client	
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2514	41,133.50 Client	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3524	41,133.50 Client	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3524	41,133.50 Client	
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.2514	16,453.40 Client	
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.2514	16,453.40 Client	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3524	16,453.40 Client	
		g/cgo . ataro		3.00	•	.,500	_	_,000		10,100.10	-~;

Page 8 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Tra Тур		Buy/ Sell
12:59:42	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.3524	16,453.40 Clie	ent	Sell
13:04:10	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.3441	1,645,340.00 Clie	ent	Buy
13:04:10	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.3441	1,645,340.00 Mer	mber	Sell
13:04:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.2400	57,586.90 Mer	mber	Sell
13:04:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.2400	57,586.90 Clie	ent	Buy
13:05:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3394	32,906.80 Mer	mber	Sell
13:05:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.3394	32,906.80 Clie	ent	Buy
13:09:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	95	95,000	8.3351	781,536.50 Mer	mber	Sell
13:09:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3351	164,534.00 Mer	mber	Sell
13:09:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	95	95,000	8.3351	781,536.50 Clie	ent	Buy
13:09:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3351	164,534.00 Clie		Buy
13:13:37	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2321	822,670.00 Mer	mber	Sell
13:13:37	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2321	822,670.00 Clie	ent	Buy
13:16:50	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	195	195,000	8.3300	1,604,206.50 Mer	mber	Sell
13:17:22	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.4300	41,133.50 Mer	mber	Sell
13:17:22	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.4300	41,133.50 Clie	ent	Buy
13:19:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3300	4,113,350.00 Clie	ent	Buy
13:19:00	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	215	215,000	8.3300	1,768,740.50 Mer		Sell
13:30:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3255	8,226.70 Mer	mber	Sell
13:30:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	34	34,000	8.3250	279,707.80 Mer	mber	Sell
13:30:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	34	34,000	8.3250	279,707.80 Clie	ent	Buy
13:30:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3255	8,226.70 Clie		Buy
13:31:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3250	8,226.70 Mer	mber	Sell
13:31:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3200	82,267.00 Mer		Sell
13:31:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3200	82,267.00 Clie		Buy
13:31:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3250	8,226.70 Clie		Buy
13:31:20	\$ / R 14/12/2012	Foreign Exchange Future	Р	8.32	1	1,000	100	100,000	277.0000	822,670.00 Clie		Buy
13:33:33	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.2511	1,653,566.70 Mer		Buy
13:33:33	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.3541	1,653,566.70 Mer		Sell
13:33:33	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.2511	1,653,566.70 Clie		Sell
13:33:33	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.3541	1,653,566.70 Clie		Buy
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.2336	164,534.00 Clie		Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.2336	164,534.00 Mer		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3560	41,133.50 Mer		Sell
14:30:21	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3501	822,670.00 Mer		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3446	4,113,350.00 Mer		Buy
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2505	822,670.00 Mer		Buy
14:40:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.2946	411,335.00 Mer		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3396	4,113,350.00 Clie		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.3670	74,040.30 Clie		Sell
15:02:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.2661	74,040.30 Clie		Buy
15:02:43	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	61,932	61,932,000	8.2661	509,495,984.40 Mer		Sell
15:02:43	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	61,932	61,932,000	8.3670	509,495,984.40 Mer		Buy
.0.02.70	ψ	i oroign Exonange i atale		3.00	•	1,000	01,002	01,002,000	0.0070	009,790,304.40 Mei		20,

Page 9 of 21 2012/09/14, 06:04:29PM

15:11:04 \$ 15:11:04 \$ 15:11:04 \$ 15:11:32 \$ 15:31:32 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 17/09/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	12,588 12,588 12,588 12,588	12,588,000 12,588,000 12,588,000 12,588,000	8.2461 8.3487 8.2461 8.3487	103,557,699.60 Member 103,557,699.60 Member 103,557,699.60 Client 103,557,699.60 Client	Buy Sell Sell
15:11:04 \$ 15:11:04 \$ 15:11:32 \$ 15:31:32 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 17/09/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1 1	1,000 1,000	12,588 12,588	12,588,000	8.2461	103,557,699.60 Client	Sell
15:11:04 \$ 15:11:32 \$ 15:11:32 \$ 15:36:34 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future	0.00 0.00 0.00	1	1,000	12,588				
15:11:32 \$ 15:11:32 \$ 15:36:34 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 14/12/2012 6 / R 14/12/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future	0.00 0.00	1			12,588,000	8.3487	103 557 699 60 Client	_
15:11:32 \$ 15:36:34 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 14/12/2012 6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00	•	1,000				100,001,000.00	Buy
15:36:34 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	6 / R 14/12/2012 6 / R 17/09/2012 6 / R 17/09/2012 6 / R 17/09/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		1		350	350,000	8.3800	2,879,345.00 Member	Sell
15:37:31 \$ 15:37:31 \$ 15:37:31 \$ 15:37:31 \$	s / R 17/09/2012 s / R 17/09/2012 s / R 17/09/2012	Foreign Exchange Future Foreign Exchange Future	0.00		1,000	350	350,000	8.3800	2,879,345.00 Client	Buy
15:37:31 \$ 15:37:31 \$ 15:37:31 \$	5 / R 17/09/2012 5 / R 17/09/2012	Foreign Exchange Future		1	1,000	200	200,000	8.3470	1,645,340.00 Member	Sell
15:37:31 \$ 15:37:31 \$	5 / R 17/09/2012	-	0.00	1	1,000	21,405	21,405,000	8.2661	176,092,513.50 Client	Buy
15:37:31 \$		Foreign Exchange Future	0.00	1	1,000	9,658	9,658,000	8.2661	79,453,468.60 Client	Buy
	5 / R 17/09/2012		0.00	1	1,000	4,485	4,485,000	8.2661	36,896,749.50 Client	Buy
15:37:31 \$		Foreign Exchange Future	0.00	1	1,000	4,294	4,294,000	8.2661	35,325,449.80 Client	Buy
	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	4,271	4,271,000	8.2661	35,136,235.70 Client	Buy
15:37:31 \$	s / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	2,157	2,157,000	8.2661	17,744,991.90 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	2,032	2,032,000	8.2661	16,716,654.40 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	1,603	1,603,000	8.2661	13,187,400.10 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	1,469	1,469,000	8.2661	12,085,022.30 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	1,257	1,257,000	8.2661	10,340,961.90 Client	Buy
15:37:31 \$	s / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	1,093	1,093,000	8.2661	8,991,783.10 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	918	918,000	8.2661	7,552,110.60 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	835	835,000	8.2661	6,869,294.50 Client	Buy
15:37:31 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	827	827,000	8.2661	6,803,480.90 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	700	700,000	8.2661	5,758,690.00 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	646	646,000	8.2661	5,314,448.20 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	636	636,000	8.2661	5,232,181.20 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	576	576,000	8.2661	4,738,579.20 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	527	527,000	8.2661	4,335,470.90 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	462	462,000	8.2661	3,800,735.40 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	371	371,000	8.2661	3,052,105.70 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	366	366,000	8.2661	3,010,972.20 Client	Buy
	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	310	310,000	8.2661	2,550,277.00 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	272	272,000	8.2661	2,237,662.40 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	183	183,000	8.2661	1,505,486.10 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	166	166,000	8.2661	1,365,632.20 Client	Buy
15:37:32 \$	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	147	147,000	8.2661	1,209,324.90 Client	Buy
	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	128	128,000	8.2661	1,053,017.60 Client	Buy
	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	82	82,000	8.2661	674,589.40 Client	Buy
	5 / R 17/09/2012	Foreign Exchange Future	0.00	1	1,000	47	47,000	8.2661	386,654.90 Client	Buy
	i / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	21,405	21,405,000	8.3670	176,092,513.50 Client	Sell
	5 / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	9,658	9,658,000	8.3670	79,453,468.60 Client	Sell
	i / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	4,485	4,485,000	8.3670	36,896,749.50 Client	Sell
	5 / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	4,294	4,294,000	8.3670	35,325,449.80 Client	Sell
	i / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	4,271	4,271,000	8.3670	35,136,235.70 Client	Sell
	i / R 14/12/2012	Foreign Exchange Future	0.00	1	1,000	2,157	2,157,000	8.3670	17,744,991.90 Client	Sell

Page 10 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	2,032	2,032,000	8.3670	16,716,654.40 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,603	1,603,000	8.3670	13,187,400.10 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,469	1,469,000	8.3670	12,085,022.30 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,257	1,257,000	8.3670	10,340,961.90 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,093	1,093,000	8.3670	8,991,783.10 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	918	918,000	8.3670	7,552,110.60 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	835	835,000	8.3670	6,869,294.50 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	827	827,000	8.3670	6,803,480.90 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	700	700,000	8.3670	5,758,690.00 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	646	646,000	8.3670	5,314,448.20 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	636	636,000	8.3670	5,232,181.20 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	576	576,000	8.3670	4,738,579.20 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	527	527,000	8.3670	4,335,470.90 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	462	462,000	8.3670	3,800,735.40 Client	Sell
15:37:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	371	371,000	8.3670	3,052,105.70 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	366	366,000	8.3670	3,010,972.20 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	310	310,000	8.3670	2,550,277.00 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	272	272,000	8.3670	2,237,662.40 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	183	183,000	8.3670	1,505,486.10 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	166	166,000	8.3670	1,365,632.20 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	147	147,000	8.3670	1,209,324.90 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	128	128,000	8.3670	1,053,017.60 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	82	82,000	8.3670	674,589.40 Client	Sell
15:37:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	47	47,000	8.3670	386,654.90 Client	Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3350	246,801.00 Membe	
16:10:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3350	246,801.00 Client	Buy
16:12:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.3367	2,056,675.00 Client	Buy
16:12:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.3367	2,056,675.00 Membe	
16:16:42	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.2505	12,340,050.00 Client	Sell
16:16:42	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.3525	6,581,360.00 Client	Buy
16:16:42	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5,950	5,950,000	8.3525	48,948,865.00 Membe	
16:16:42	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5,950	5,950,000	8.2505	48,948,865.00 Membe	
16:17:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3284	41,133.50 Membe	
16:17:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3284	41,133.50 Client	Buy
16:19:37	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.2505	6,581,360.00 Client	Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3246	82,267.00 Membe	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3246	82,267.00 Client	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.4525	1,234,005.00 Membe	
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.3625	12,340,050.00 Client	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	700	700,000	8.3525	5,758,690.00 Client	Buy
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.2505	4,113,350.00 Client	Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	700	700,000	8.2505	5,758,690.00 Client	Sell
	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2505	1,645,340.00 Client	Sell
10.21.32	φ / ΓΛ Ι / / / / / / / / / / / / / / / / / /	Foreign Exchange Future		0.00	I	1,000	200	200,000	0.2000	1,040,340.00 Glient	Se

Page 11 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Tra Typ		Buy/ Sell
16:22:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4,250	4,250,000	8.2378	34,963,475.00 Mer	mber	Sell
16:22:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4,250	4,250,000	8.2378	34,963,475.00 Clie	nt	Buy
16:22:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.2378	6,170,025.00 Mer		Sell
16:22:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.2378	6,170,025.00 Clie	nt	Buy
16:22:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.4525	164,534.00 Mer	mber	Sell
16:22:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.3625	1,645,340.00 Clie	nt	Buy
16:23:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3225	246,801.00 Mer	mber	Sell
16:23:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3225	246,801.00 Clie	nt	Buy
16:31:26	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3280	8,226,700.00 Mer	mber	Sell
16:33:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.2210	6,581,360.00 Mer	mber	Buy
16:33:12	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.2210	6,581,360.00 Clie	nt	Sell
16:33:13	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.4302	6,581,360.00 Mer		Sell
16:33:13	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.4302	6,581,360.00 Clie	nt	Buy
16:35:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3312	82,267.00 Clie	nt:	Buy
16:35:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3312	82,267.00 Mer		Sell
16:40:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3560	41,133.50 Clie	nt	Buy
16:40:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3560	41,133.50 Mer		Sell
16:41:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4280	411,335.00 Mer	mber	Sell
16:41:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	950	950,000	8.3280	7,815,365.00 Mer	mber	Sell
16:41:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3330	8,226,700.00 Clie	nt:	Buy
16:45:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3491	822,670.00 Mer	mber	Sell
16:45:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3491	822,670.00 Clie	nt	Buy
16:46:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3466	822,670.00 Mer	mber	Sell
16:46:17	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3466	822,670.00 Clie	nt	Buy
16:52:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	515	515,000	8.3549	4,236,750.50 Clie	ent	Buy
16:52:05	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	170	170,000	8.3341	1,398,539.00 Mer		Sell
16:52:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.3320	57,586.90 Clie	nt:	Buy
16:52:41	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.3320	57,586.90 Clie	nt:	Sell
16:53:07	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3450	4,113,350.00 Mer	mber	Sell
16:58:58	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3360	246,801.00 Mer	mber	Sell
16:58:58	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3360	246,801.00 Clie	nt	Buy
16:59:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	23	23,000	8.3320	189,214.10 Mer		Sell
16:59:12	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	23	23,000	8.3320	189,214.10 Clie	nt	Buy
16:59:16	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3300	82,267.00 Mer	mber	Sell
16:59:16	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3300	82,267.00 Clie		Buy
16:59:28	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3250	82,267.00 Mer		Sell
16:59:28	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3250	82,267.00 Clie		Buy
	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.4220	82,267.00 Mer		Sell
	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.4220	82,267.00 Clie		Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3225	82,267.00 Mer		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3200	8,226.70 Mer		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3190	164,534.00 Mer		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.3200	8,226.70 Clie		Buy

Page 12 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
16:59:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.3190	164,534.00 Client	Buy
16:59:37	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3225	82,267.00 Client	Buy
17:00:39	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3250	8,226,700.00 Member	Sell
17:05:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4250	411,335.00 Member	Sell
17:05:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3300	8,226,700.00 Client	Buy
17:05:49	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3549	8,226,700.00 Client	Buy
17:07:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3420	4,113,350.00 Member	Sell
17:07:36	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3420	4,113,350.00 Client	Buy
17:10:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	633	633,000	8.2505	5,207,501.10 Client	Sell
17:10:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	957	957,000	8.2505	7,872,951.90 Client	Sell
17:10:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	160	160,000	8.2505	1,316,272.00 Client	Sell
17:10:48	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.2505	4,113,350.00 Client	Sell
17:11:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4525	411,335.00 Membe	Sell
17:11:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3625	4,113,350.00 Client	Buy
17:12:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.4525	411,335.00 Membe	Sell
17:12:01	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.3625	4,113,350.00 Client	Buy
17:12:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	160	160,000	8.3625	1,316,272.00 Member	Sell
17:12:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	160	160,000	8.3625	1,316,272.00 Client	Buy
17:13:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4482	822,670.00 Member	Sell
17:13:34	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	957	957,000	8.3625	7,872,951.90 Client	Buy
17:14:09	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.4158	822,670.00 Member	Sell
17:14:09	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	633	633,000	8.3625	5,207,501.10 Client	Buy
17:24:58	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3261	8,226,700.00 Member	Sell
17:29:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.3561	822,670.00 Member	Sell
17:29:02	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.3291	8,226,700.00 Client	Buy
Total Fut	ures				255		346,802	346,801,500		2,880,894,699.90	
Total Opt	tions				9		17,700	17,700,000		3,421,900,150.00	
Total for	\$ / R Foreign Exchange Fu	iture			264		364,502	364,501,500		6,302,794,849.90	
9:13:05	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2300	4,113,350.00 Member	Sell
9:13:05	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2300	4,113,350.00 Member	Buy
9:36:41	\$ / R MAXI 14/12/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.3405	4,113,350.00 Member	Sell
9:36:41	\$ / R MAXI 14/12/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.3405	4,113,350.00 Member	Buy
9:36:41	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2395	4,113,350.00 Member	Sell
9:36:41	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2395	4,113,350.00 Member	Buy
14:44:07	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2650	4,113,350.00 Member	Sell
14:44:07	\$ / R MAXI 17/09/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2650	4,113,350.00 Member	Buy
14:44:07	\$ / R MAXI 14/12/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.3665	4,113,350.00 Member	Sell
14:44:07	\$ / R MAXI 14/12/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.3665	4,113,350.00 Member	Buy

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value T T	rade Type	Buy/ Sell
Total Futu	ıres				5		25	2,500,000		20,720,750.00		
Total Opti	ions											
Total for S	/ R MAXI Foreign Exch	ange Future			5		25	2,500,000		20,720,750.00		
9:25:13	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4690	13,352.80 M	/lember	Buy
9:25:13	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4690	13,352.80 C	Client	Sell
9:38:55	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.5170	66,764.00 M	/lember	Sell
9:38:55	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.5170	66,764.00 C	Client	Buy
9:54:55	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3650	13,352,800.00 C	Client	Sell
9:54:55	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.3650	20,029,200.00 M	/lember	Buy
10:28:26	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,945	1,945,000	13.3150	25,971,196.00 C	Client	Sell
10:28:26	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,945	1,945,000	13.4748	25,971,196.00 C	Client	Buy
10:28:26	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,945	1,945,000	13.3150	25,971,196.00 M	/lember	Buy
10:28:26	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,945	1,945,000	13.4748	25,971,196.00 M	/lember	Sell
11:05:18	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.4760	6,542,872.00 M	/lember	Buy
11:05:18	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	13.4760	1,201,752.00 C	Client	Sell
11:05:18	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.8010	6,542,872.00 M	/lember	Sell
11:05:18	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.8010	6,542,872.00 M	/lember	Buy
11:25:43	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	13.3861	1,068,224.00 M	/lember	Buy
11:25:43	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	13.5513	1,068,224.00 M		Sell
11:25:43	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3861	667,640.00 C		Sell
11:25:43	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.5513	667,640.00 C		Buy
11:31:09	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.4760	133,528.00 C	Client	Sell
11:31:09	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4760	1,335,280.00 C		Sell
11:31:09	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	190	190,000	13.4760	2,537,032.00 C		Sell
11:31:09	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4760	1,335,280.00 C	Client	Sell
12:09:13	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	372	372,000	13.6340	4,967,241.60 M		Buy
12:09:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	372	372,000	13.4760	4,967,241.60 M	/lember	Sell
12:16:52	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.4760	667,640.00 C		Buy
12:16:52	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	321	321,000	13.4760	4,286,248.80 C	Client	Buy
12:17:54	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6340	667,640.00 C	Client	Sell
12:17:54	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	321	321,000	13.6340	4,286,248.80 C		Sell
12:18:14	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4760	13,352.80 C	Client	Buy
12:18:27	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.6340	13,352.80 C		Sell
12:42:41	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.5315	13,352,800.00 C	Client	Buy
12:42:41	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.5315	20,029,200.00 M	/lember	Sell
12:48:11	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3861	400,584.00 C	Client	Sell
12:48:24	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.5513	400,584.00 C	Client	Buy
12:55:03	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3650	6,676,400.00 C	Client	Sell
12:55:37	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.5315	6,676,400.00 C	Client	Buy
13:08:31	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4760	13,352.80 C	Client	Sell
13:08:31	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4760	13,352.80 C	Client	Buy

Page 14 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value T T	Гrade Гуре	Buy/ Sell
16:16:23	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	111	111,000	13.4760	1,482,160.80 C	Client	Buy
16:16:23	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	352	352,000	13.7830	4,700,185.60 M	√lember	Buy
16:16:23	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	352	352,000	13.4760	4,700,185.60 M	∕lember	Sell
16:27:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	63	63,000	13.4760	841,226.40 C	Client	Buy
16:27:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	13.4760	734,404.00 C		Buy
16:27:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	61	61,000	13.4760	814,520.80 C	Client	Buy
16:27:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	13.4760	427,289.60 C	Client	Buy
16:27:13	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.4760	400,584.00 C	Client	Buy
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	63	63,000	13.7730	841,226.40 M	∕lember	Buy
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	63	63,000	13.7730	841,226.40 C	Client	Sell
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	55	55,000	13.7730	734,404.00 M	Летber	Buy
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	55	55,000	13.7730	734,404.00 C	Client	Sell
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	61	61,000	13.7730	814,520.80 M	Летber	Buy
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	61	61,000	13.7730	814,520.80 C	Client	Sell
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	32	32,000	13.7730	427,289.60 M	Летber	Buy
16:27:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	32	32,000	13.7730	427,289.60 C	Client	Sell
16:27:53	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.7730	400,584.00 M		Buy
16:27:53	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.7730	400,584.00 C	Client	Sell
16:27:53	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	111	111,000	13.7730	1,482,160.80 M	∕lember	Buy
16:27:53	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	111	111,000	13.7730	1,482,160.80 C	Client	Sell
Total Futu	ires				29		9,661	9,661,000		130,168,539.00		
Total Opti	ons											
Total for £	: / R Foreign Exchange F	uture			29		9,661	9,661,000		130,168,539.00		
12:33:51	¥ / R 17/09/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1056	210,234.00 C	Client	Buy
12:33:51	¥ / R 14/12/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1069	210,234.00 C	Client	Sell
12:33:51	¥ / R 17/09/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1056	210,234.00 M	∕lember	Sell
12:33:51	¥ / R 14/12/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1069	210,234.00 M	∕lember	Buy
Total Futu	ires				2		40	4,000,000		425,160.00		
Total Opti	ons											
Total for ¥	/ R Foreign Exchange F	uture			2		40	4,000,000		425,160.00		
9:11:32	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.8625	216,176.00 C	Client	Sell
9:11:32	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.8625	216,176.00 M	∕lember	Buy
9:36:41	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.7435	432,352.00 C	Client	Buy
9:36:41	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.8735	432,352.00 C	Client	Sell
9:36:41	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.8735	432,352.00 M	Летber	Buy
9:36:41	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.7435	432,352.00 M	∕lember	Sell
9:41:39	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9005	54,044.00 M	Летber	Sell
9:41:39	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9005	54,044.00 C	Client	Buy
9:58:37	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.0200	21,617.60 M	√lember	Buy

Page 15 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Tra	rade /pe	Buy/ Sell
9:58:37	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.0200	21,617.60 Clie	ient	Sell
10:28:26	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.7150	47,018,280.00 Clie	ient	Sell
10:28:26	€ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Clie	ient	Buy
10:28:26	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.7150	47,018,280.00 Me	ember	Buy
10:28:26	€ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Me	ember	Sell
11:02:02	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	230	230,000	11.0320	2,486,024.00 Clie	ient	Sell
11:02:02	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	880	880,000	11.0320	9,511,744.00 Me	ember	Buy
11:15:42	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.7642	162,132.00 Me	ember	Buy
11:15:42	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.7642	162,132.00 Clie	ient	Sell
11:15:43	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.9094	162,132.00 Me	ember	Sell
11:15:43	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.9094	162,132.00 Clic	ient	Buy
11:21:54	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.0320	1,080,880.00 Clie	ient	Sell
11:21:54	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	180	180,000	11.0320	1,945,584.00 Clie	ient	Sell
11:21:54	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	80	80,000	11.0320	864,704.00 Clie	ient	Sell
11:21:54	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	290	290,000	11.0320	3,134,552.00 Clie	ient	Sell
11:23:54	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.7796	918,748.00 Me	ember	Buy
11:23:54	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.7796	540,440.00 Clie	ient	Sell
11:23:55	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.9248	918,748.00 Me	ember	Sell
11:23:55	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9248	540,440.00 Clie	ient	Buy
11:31:24	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.7618	2,161,760.00 Me	ember	Buy
11:31:24	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	11.0583	2,161,760.00 Me	ember	Sell
11:31:24	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.7618	2,161,760.00 Clie	ient	Sell
11:31:24	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	11.0583	2,161,760.00 Clie	ient	Buy
11:43:32	€ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Clie		Sell
11:43:32	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Clie	ient	Buy
11:43:32	€ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Me		Buy
11:43:32	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	4,350	4,350,000	10.8561	47,018,280.00 Me	ember	Sell
11:56:28	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	263	263,000	10.7480	2,842,714.40 Me	ember	Buy
11:57:21	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	263	263,000	10.7480	2,842,714.40 Me	ember	Buy
11:57:21	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	263	263,000	10.7480	2,842,714.40 Clie	ient	Sell
12:09:09	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	109	109,000	10.8843	1,178,159.20 Me		Buy
12:09:09	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	109	109,000	10.7480	1,178,159.20 Me	ember	Sell
12:26:36	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.7480	1,080,880.00 Clie	ient	Buy
12:26:46	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.8843	1,080,880.00 Clie		Sell
12:27:16	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	10.7480	97,279.20 Clie		Buy
12:27:24	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	10.8843	97,279.20 Clie		Sell
12:35:05	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.7480	162,132.00 Clie		Buy
12:35:05	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.8843	162,132.00 Clie		Buy
12:35:05	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.7480	162,132.00 Clie		Sell
12:37:32	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.7480	10,808.80 Clie		Buy
12:37:32	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.7480	10,808.80 Clie		Sell
12:37:32	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.8843	10,808.80 Clie		Sell
	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.8843	10,808.80 Clie		Buy

Page 16 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
12:46:56	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	10.7796	378,308.00 Client	Sell
12:47:14	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	10.9248	378,308.00 Client	Buy
12:55:09	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	10.8003	345,881.60 Client	Sell
12:55:09	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	10.8003	345,881.60 Member	er Buy
13:18:21	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	10.8015	8,106,600.00 Member	er Sell
13:18:21	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	10.9410	8,106,600.00 Member	er Buy
13:18:21	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	10.8015	8,106,600.00 Client	Buy
13:18:21	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	10.9410	8,106,600.00 Client	Sell
13:38:12	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9240	2,161,760.00 Client	Buy
13:38:12	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9240	2,161,760.00 Member	er Sell
15:30:27	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.8200	324,264.00 Member	er Buy
15:30:27	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.8200	324,264.00 Client	Sell
16:15:50	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5,926	5,926,000	10.8200	64,052,948.80 Member	er Sell
16:15:50	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5,926	5,926,000	11.0960	64,052,948.80 Member	er Buy
16:17:25	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	362	362,000	10.8200	3,912,785.60 Client	Buy
16:17:25	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.8200	5,404,400.00 Client	Sell
16:17:25	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.0960	5,404,400.00 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	794	794,000	10.8200	8,582,187.20 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	245	245,000	10.8200	2,648,156.00 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,061	1,061,000	10.8200	11,468,136.80 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,599	1,599,000	10.8200	17,283,271.20 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	351	351,000	10.8200	3,793,888.80 Client	Buy
16:56:49	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1,349	1,349,000	10.8200	14,581,071.20 Client	Buy
16:56:50	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	665	665,000	10.8200	7,187,852.00 Client	Buy
17:02:10	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.9150	216,176.00 Member	er Buy
17:02:10	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	362	362,000	11.0860	3,912,785.60 Client	Sell
17:02:59	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9630	540,440.00 Member	er Buy
17:02:59	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	665	665,000	11.0860	7,187,852.00 Client	Sell
17:03:48	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9611	1,080,880.00 Membe	er Buy
17:03:48	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,349	1,349,000	11.0860	14,581,071.20 Client	Sell
17:04:44	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.9790	324,264.00 Member	er Buy
17:04:44	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	351	351,000	11.0860	3,793,888.80 Client	Sell
17:05:56	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	150	150,000	10.9894	1,621,320.00 Member	er Buy
17:05:56	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,599	1,599,000	11.0860	17,283,271.20 Client	Sell
17:06:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.9735	216,176.00 Member	er Buy
17:06:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	245	245,000	11.0860	2,648,156.00 Client	Sell
17:07:30	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9899	1,080,880.00 Membe	er Buy
17:07:30	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,061	1,061,000	11.0860	11,468,136.80 Client	Sell
17:08:21	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9462	540,440.00 Member	er Buy
17:08:21	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	794	794,000	11.0865	8,582,187.20 Client	Sell
17:09:04	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	794	794,000	11.0865	8,582,187.20 Client	Buy
17:09:20	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	794	794,000	11.0860	8,582,187.20 Member	er Buy
17:09:20	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	794	794,000	11.0860	8,582,187.20 Client	Sell

Page 17 of 21 2012/09/14, 06:04:29PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Tr Ty	rade ype	Buy/ Sell
Total Futu	ires				48		35,689	35,689,000		388,564,325.35		
Total Opti	ons											
Total for €	/ R Foreign Exchange Futur	e			48		35,689	35,689,000		388,564,325.35		
9:56:59	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.7102	3,481,960.00 Cli	ient	Sell
9:56:59	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.7524	3,481,960.00 Cli		Buy
9:56:59	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.7102	3,481,960.00 Me	ember	Buy
9:56:59	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.7524	3,481,960.00 Me	ember	Sell
10:30:20	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.7690	4,352,450.00 Me	ember	Buy
11:18:33	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7847	870,490.00 Me	ember	Sell
11:18:33	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7440	870,490.00 Me	ember	Buy
11:18:33	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7847	870,490.00 Cli	ient	Buy
11:18:33	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7440	870,490.00 Cli	ient	Sell
11:36:07	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.8320	870,490.00 Me	ember	Buy
11:36:07	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.8320	870,490.00 Me	ember	Sell
11:36:07	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7330	870,490.00 Me	ember	Buy
11:36:07	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.7330	870,490.00 Me	ember	Sell
11:36:09	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.7327	217,622.50 Me	ember	Buy
11:36:09	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3677	217,622.50 Me	ember	Buy
11:36:09	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3677	217,622.50 Me	ember	Sell
11:36:09	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.7327	217,622.50 Me	ember	Sell
11:38:26	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.7327	1,088,112.50 Me	ember	Sell
11:38:26	AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.7327	1,088,112.50 Cli	ient	Buy
11:38:26	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.7962	1,088,112.50 Me	ember	Buy
11:38:26	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.7962	1,088,112.50 Cli	ient	Sell
12:25:44	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.7552	26,114.70 Me	ember	Buy
12:25:44	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.7552	26,114.70 Cli	ient	Sell
14:46:34	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.6690	435,245.00 Me	ember	Buy
14:46:34	AU\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.7590	4,352,450.00 Cli	lient	Sell
Total Futu	ires				13		2,028	2,028,000		17,763,023.10		
Total Opti	ons											
Total for A	AU\$ / R Foreign Exchange Fu	ture			13		2,028	2,028,000		17,763,023.10		
13:42:59	CF CANDO CABN 14/12/2012	Can-Do Future		0.00	1	1,000	14,500	14,500,000	0.0834	1,247,000.00 Me	ember	Buy
13:42:59	CF CANDO CABN 14/12/2012	Can-Do Future		0.00	1	1,000	5,800	5,800,000	0.0834	498,800.00 Cli	ient	Sell
15:55:53	CF CANDO CABN 14/12/2012	Can-Do Future		0.00	1	1,000	8,700	8,700,000	0.0834	748,200.00 Cli	lient	Sell
Total Futu	ires				2		14,500	14,500,000		1,209,300.00		
Total Opti	ons											
Total for C	CF CANDO CABN Can-Do Fu	ture			2		14,500	14,500,000		1,209,300.00		

Page 18 of 21 2012/09/14, 06:04:29PM

Matched Contract D Time	etails	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value Trade Type	Buy/ Sell
13:42:59 CF CANDO C	ABO 14/12/2012	Can-Do Future		0.00	1	1,000	14,500	14,500,000	0.0748	988,900.00 Member	Buy
13:42:59 CF CANDO C	ABO 14/12/2012	Can-Do Future		0.00	1	1,000	5,800	5,800,000	0.0748	395,560.00 Client	Sell
15:55:36 CF CANDO C	ABO 14/12/2012	Can-Do Future		0.00	1	1,000	8,700	8,700,000	0.0748	593,340.00 Client	Sell
Total Futures					2		14,500	14,500,000		1,084,600.00	
Total Options											
Total for CF CANDO C	ABO Can-Do Fu	ture			2		14,500	14,500,000		1,084,600.00	
13:42:59 CF CANDO C	ABP 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.1230	264,180.00 Member	Buy
13:42:59 CF CANDO C	ABP 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.1230	264,180.00 Client	Sell
Total Futures					1		3,700	3,700,000		455,100.00	
Total Options											
Total for CF CANDO C	ABP Can-Do Fut	ture			1		3,700	3,700,000		455,100.00	
13:42:59 CF CANDO C	ABR 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.1149	496,170.00 Member	Buy
13:42:59 CF CANDO C	ABR 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.1149	496,170.00 Client	Sell
Total Futures					1		3,700	3,700,000		425,130.00	
Total Options											
Total for CF CANDO C	ABR Can-Do Fu	ture			1		3,700	3,700,000		425,130.00	
13:42:59 CF CANDO C	ABS 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.0957	196,880.00 Member	Buy
13:42:59 CF CANDO C	ABS 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.0957	196,880.00 Client	Sell
Total Futures					1		4,600	4,600,000		440,220.00	
Total Options											
Total for CF CANDO C	ABS Can-Do Fut	ture			1		4,600	4,600,000		440,220.00	
13:42:59 CF CANDO C	ABT 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.1043	575,000.00 Member	Buy
13:42:59 CF CANDO C	CABT 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.1043	575,000.00 Client	Sell
Total Futures					1		4,600	4,600,000		479,780.00	
Total Options											
Total for CF CANDO C	ABT Can-Do Fut	ture			1		4,600	4,600,000		479,780.00	
14:03:09 CF CANDO C	ABU 14/12/2012	Can-Do Future		0.00	1	1,000	14,500	14,500,000	0.1583	2,192,400.00 Member	Sell
14:03:09 CF CANDO C	ABU 14/12/2012	Can-Do Future		0.00	1	1,000	5,800	5,800,000	0.1583	876,960.00 Client	Buy
15:56:16 CF CANDO C	ABU 14/12/2012	Can-Do Future		0.00	1	1,000	8,700	8,700,000	0.1583	1,315,440.00 Client	Buy

Matched (	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Nominal Value T	rade ype	Buy/ Sell
Total Future	es				2		14,500	14,500,000		2,295,350.00		
Total Option	ıs											
Total for CF	CANDO CABU Can-Do Fut	ure			2		14,500	14,500,000		2,295,350.00		
14:03:09 C	F CANDO CABV 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.2378	743,700.00 M	/lember	Sell
14:03:09 C	F CANDO CABV 14/12/2012	Can-Do Future		0.00	1	1,000	3,700	3,700,000	0.2378	743,700.00 C	Client	Buy
Total Future	es				1		3,700	3,700,000		879,860.00		
Total Option	าร											
Total for CF	CANDO CABV Can-Do Fut	ure			1		3,700	3,700,000		879,860.00		
14:03:09 C	F CANDO CABW 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.2000	750,260.00 M	1ember	Sell
14:03:09 C	F CANDO CABW 14/12/2012	Can-Do Future		0.00	1	1,000	4,600	4,600,000	0.2000	750,260.00 C		Buy
Total Future	es				1		4,600	4,600,000		920,000.00		
Total Option	ıs											
Total for CF	CANDO CABW Can-Do Fu	ture			1		4,600	4,600,000		920,000.00		
16:08:00 D	AAY 19/09/2012	Any day expiry		0.00	1	1,000	1,500	1,500,000	8.6580	13,057,350.00 M	1ember	Sell
16:08:00 D	AAY 19/09/2012	Any day expiry		0.00	1	1,000	1,200	1,200,000	8.6580	10,445,880.00 C	Client	Buy
16:37:20 D	AAY 19/09/2012	Any day expiry		0.00	1	1,000	300	300,000	8.6580	2,611,470.00 C	Client	Buy
Total Future	es				2		1,500	1,500,000		12,987,000.00		
Total Option	ıs											
Total for DA	AY Any day expiry				2		1,500	1,500,000		12,987,000.00		
15:02:17 D	AAZ 19/09/2012	Any day expiry		0.00	1	1,000	5,950	5,950,000	8.2423	48,948,865.00 M	1ember	Sell
15:02:17 D	AAZ 19/09/2012	Any day expiry		0.00	1	1,000	5,950	5,950,000	8.2423	48,948,865.00 C	Client	Buy
15:02:17 D	AAZ 19/09/2012	Any day expiry		0.00	1	1,000	1,050	1,050,000	8.2423	8,638,035.00 M	1ember	Sell
15:02:17 D	AAZ 19/09/2012	Any day expiry		0.00	1	1,000	1,050	1,050,000	8.2423	8,638,035.00 C	Client	Buy
16:28:54 D	AAZ 19/09/2012	Any day expiry	Р	8.39	1	1,000	1,700	1,700,000	176.0000	13,985,390.00 C	Client	Sell
16:28:54 D	AAZ 19/09/2012	Any day expiry	Р	8.39	1	1,000	300	300,000	176.0000	2,468,010.00 C	Client	Sell
16:28:54 D	AAZ 19/09/2012	Any day expiry	Р	8.23	1	1,000	300	300,000	75.0000	2,468,010.00 C	Client	Buy
	AAZ 19/09/2012	Any day expiry	Р	8.23	1	1,000	1,700	1,700,000	75.0000	13,985,390.00 C	Client	Buy
	AAZ 19/09/2012	Any day expiry	Р	8.39	1	1,000	1,700	1,700,000	176.0000	13,985,390.00 M		Buy
	AAZ 19/09/2012	Any day expiry	Р	8.39	1	1,000	300	300,000	176.0000	2,468,010.00 M		Buy
	AAZ 19/09/2012	Any day expiry	Р	8.23	1	1,000	300	300,000	75.0000	2,468,010.00 M		Sell
16:28:54 D	AAZ 19/09/2012	Any day expiry	Р	8.23	1	1,000	1,700	1,700,000	75.0000	13,985,390.00 M	1ember	Sell

Page 20 of 21 2012/09/14, 06:04:29PM

Matched Contract Details Time	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Nor Price	ninal Value Trade Type	Buy/ Sell
Total Futures				2		7,000	7,000,000	57,0	696,100.00	
Total Options				4		4,000	4,000,000	502,0	00,000.00	
Total for DAAZ Any day expiry				6		11,000	11,000,000	559,0	696,100.00	
Total Futures				365		471,145	477,579,500	3,517,40	08,937.35	
otal Options				13		21,700	21,700,000	3,923,90	00,150.00	
Grand Total for all Instruments			378		492,845	499,279,500	7,441,30	9,087.35		

Page 21 of 21 2012/09/14, 06:04:29PM